;> restart
>fi=t-2+71t—8

] f=~f+7t—8 1)
> plot(f,t=-11.10)
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t
> L:=10;a[0] = —-int(f t=-L..L); C := “[20]
L:=10
L 152
0- 3
76
C=— 2
i 3 @
> a[n] = %.im‘(f-cos( n'ilit ),tZ—L..L)
8 (23 T sin(nm) +50nweos(nm) —50sin(nx))
a, = 3 3 Q)
nm

> b[n] = -int(f-sin(%”),tz—L..L)

~ =




140 (nmwcos(nm) —sin(nw
b - - 140 (nmcos(n ) —sin(nr) @
nm
> gi= C+Sum(a[n]~cos( n‘El't ) +b[n]-sin( n-Pr ),n=l..inﬁnilyj
® | 8 (23 ﬂ:znzsin(nn) + 50 n weos(n ) — 50 sin(n TC)) cos(L nnt)
76, 10

8= 5 + 3 (5)

3 n=1 n3n

140 (nmcos(nm) —sin(nm)) sin(ll—o nnt)

> STF10000 := C-I—sum(a
(> plot( £, t=-10..10)

2 2
n T

[n]-cos(
160 A
140 -
120
100
80
60
40 1

20 1

n-Pi-t

n-Pi-t

)—i—b[n]-sin( ),nzl..lOOOO):

L

(> plot(STF10000, t=-9..9)
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(> plot([ £, STF10000], t=-3.51 ..-3.48)
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| > restart
> f:=-Heaviside(z + 1) + 2-Heaviside(#) — Heaviside(t — 1) : plot( f, t=-2..2)
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%-int(f-cos(

%int(f-sin(

0 2
t
-0.5 1
L:=2 (6)
a,:=0 ™
C=0 ®
n-Pit ),t=—L..L)
a,:=0 )
), t=—L..L)
1
2 cos E n TE) )
b, = - + (10)
n nTi



n-Pi-¢

> STF = Sum(b[n]-sin( 7 ),n=l..inﬁnily)

n=1 ntm nT

o 2 cos( 1 n TC)
STF = - 2 2
> STF500 := C +sum(a[n]-cos(
> plot(STF500,t=-2..2)

n-Pi-t
L

) S—

) +b[n]-sin(

0.5 1

-0.5 1

—

> plot([ f, STF5001, t=-1.1..-0.9)
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> STF10000 := c+sum(a[n]~cos(
[ > plot(STF10000, t=-2..2)

n-Pi-¢t n-Pi-¢

L

)—I—b[n]-sin( j,n=1..1ooo):
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-0.5 1

> plot([ £, STF100001, t=-1.1..-0.9)
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vavAvAv """"""" _1
=> restart
t
> f=exp| T
S p( 10 )
1
E t
fi=e 12)

> plot( f. t=-20..20)
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> L:=25
i L:=25 13)
> al[0] = %jnt(ﬁt:—L..L);evalf(%, 3)
) s ) 3
—_ 2 2,2 2
a,: 5 € + 5 €
i 4.85 14)
> C:= %;evalf(%ﬁ)
S 3
C:= —% e 2 + e’
i 2.42 s)
N . n-Pi-t _ )
_> aln] = I3 mt(fcos( I ),t L..LJ.

> b[n] = %-int(f-sin( n-Pit ),zz-L..L) :




> STF := C—I—Sum(a[n]cos( n'il't ) —I—b[n]-sin( n-Pri ),n=1..inﬁnily)
3 3 ad 3 3
STF=-+¢ 2+ Le2 +z ——|2 (2@2 sin(nm) tn+2e Zsin(nw)mn  (16)
3 1\ 47 n’ 425

5
+5¢? cos(nm) —5e cos(nﬂ:)) cos(zL nnt)] —I—%
> 47 n* +25

|

cos(nm) mn+2e *cos(nm) mn+5e’ sin(nm) +5¢ ° sin(nn))

RE)

Bl Bl 2

3
—2e2

> STFI1000 = C—i—sum(a[n]-cos( nPi ) +b[n]-sin( n-Pit ),n=1..1ooo) :
> plot(STF1000, t=-20.20)
-
"
5
N
3
5
/
20 10 0 10 20

(> plot([ f, STF1000], t=-0.2..0.2)
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;> restart
> f:= Heaviside( — 1) + (¢ —1)-Heaviside(t — 1) —2- (¢t — 2) -Heaviside(t —2) + (¢ —3)
- Heaviside(¢# — 3) — Heaviside(z — 3) : plot(f,t=0..5)
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> L:=2;a[0] := %~int(f,t=0..4);C = “[20]
L=2
3
ao-‘?
_3
] C: 4 a7
_ 1. . n-Pi-t _
> al[n] = 7 mt(fcos( 7 ),t 0..4)
2 (cos(i nﬂ:) + 1 nﬂ:sin(i nn)) 2 (cos(i nﬂ:) + 3 nnsin(i nn))
_ 2 2 2 2 2 2
a,:= - > 2 — > 2 (18)
nm nm
4 sin inn
N 4 (cos(nm) +nmsin(nm)) N 2 _ 4sin(nm)
2 nm nm

> b[n] = %-int(ﬁsin(%”),tzo.A)




2(sin(inn)—icos(inn)nn) 2(sin(inn)
2 2 2 2

—icos
2

Jnnl .

b = - —

3
4 (sin(nm) —cos(nm) nm) 4 cos| 5 nn)

4 cos(nm)

+ : - +
e nm

nPi ) +b[n]-sin( L

> STF10000 := C +sum(a[n]-cos(

(> plot(STF10000,¢=0..5)
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1.2

0.8
0.6
0.4

0.2

2
T

),nZI..lOOO) :

Heaviside(# + 1) + Heaviside(¢ + 1) : plot(g, t=-5..5)

(s

> g =-Heaviside(t +3) — (¢ +3)-Heaviside(z +3) +2- (¢ +2)-Heaviside(t +2) — (¢ + 1)
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[> 7= f+g:plot(h, t=-5.5)

> b[n] =

-im‘(h-sin( n-Pi-t ), t=—4..4)
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Spendares]
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2 2

N
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N
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+

2 2
n T

8 cos %nﬂ:)

N
)

> STFsenol000 == sum(b[n]-sin(
(> plot(STFsenol000,t=0..5)

nm
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